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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 3rd Semester Examination, 2019

ECOACOROS5T-EcoNoMICS (CCS)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. eNfe Fr w0E FG T fHeet e
Candidates should answer in their own words HAGIERISEI f0es ©IR1 TR TG HHNNE
and adhere to the word limit as practicable. &7 FHF1

All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10

fafefie @-@ et 2ipfe evad Ted wies

(a) A risk-averse person is offered a choice between a gamble paying Rs 1,000 with
probability 0.25 and Rs 100 with a probability of 0.75 or a certain payment of
Rs 325. Which would he choose?

w3 Yl e 9 e ment 2o aEitre oW 0.25 3-IRA™ 1,000 BIF @R
0.75 FSREA 100 51! #id= | Sepioce o 325 Bt Ao #iiws | @ [E=f o
oW FAE 2

(b) What is natural monopoly?
Froifdd aFEoN FRAF IICE I 9

(¢) What do you mean by perfect price discrimination?
o WIS Fo@Fae 0o & @I 2

(d) Show that under price discrimination, monopoly price is lower in the market with
more elastic demand.

e @ Rrewes Gy FFAE CFE @ @@ vikvE Zfereese @@, ¢}
AR G W A

(e) What are the price characteristics of monopolistic competition?
e 2fSTaIMerEs Aelas 24l el [ ¢

(f) What is monopsony?
‘AT HICE A 9

(g) What is bundling?
‘Bundling’ I f& @ical ¢

(h) Show that the degree of monopoly power is inversely related to the price
elasticity of demand.
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Answer any four questions from the following:

f=fefe @-at prafe 2ess Teg ws:

How do you identify a person as risk-averse, risk-neutral or risk lover?

@1 e fame Jfe-[age, IRe-Faers a1 & seveR @l Bire sai w2
Derive the short run supply curve of a perfectly competitive firm.

vi<ffs eferaiiieta AEIER TGk TR @bEE R s

What is dead weight loss under monopoly?

T T Jo-OR #i FIT 30 2

What is excess capacity of a firm under monopolistic competition? How can
excess production capacity be decomposed into two parts?

oAl AfSrMonET AGE FIGH Te F3o! &0 & @Il 2 1 Tg6 wWelE
o uft it stst F21 1w 9
How can risk be reduced through diversification?

fbaare aral i o 2 w4 3 2

Show that a monopolist will produce a smaller output and sell it at a higher price
than the equivalent competitive industry.

@S (@ e GFHHA SRR, Fige) Afsriergers e geem a3 s g9
Terfua 43 @3 ©f @ wies [ w211

Answer any fwo questions from the following:
fasferiie @-cwie 7f5 et Teq wise

Using the weak-axiom of Revealed preference theory show that substitution
effect of price change is always negative.

CIbATS *erergd 1ia Fosfad (weak-axiom) R @lie @ WK ~Faeta T
@ +f33E &S WG ©f AAEF |
Explain the short-run equilibrium in a monopolistic competitive market.

@A ASAMSIYETS AR FICE FoFre SRy fHdiae st

Consider a Cobb-Douglas utility function u(g;,q,) =¢q{ qg' and the budget line of
the consumer is M = p,q, + p,q,. Derive the demand function for g,and hence

show that the Cobb-Douglas consumer always spends a fixed fraction of his
income on each good.

HHAE QI FI-THEAPT B SICFE 25 1(gy,q,) =¢f ¢f @R AW @G ==
M =pg,+ p,q,. q, GCHA BiEw Wiezrws [ @ @R @Le @ FI-THAPT (O
il oie S @3 Five s &b weara Bor 3w 3.
(i)  Does a unique supply curve exist under monopoly? Explain your answer.
G Tou TR i A7E Qe @2t A & 2 Terma 590 i wis
(ii)  Show the short-run equilibrium of a multiplant monopolist.
@36 ‘@ifdes TeAma T8MG’ (multiplant) R b swa@ia Fsaen
oy fdiae =@t

5x4 =20

10x2 =20
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